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Test Question Language:- ENGLISH

1. Who founded Fatehpur Sikri?

a. Babur

b. Humayun
c. Jahangir
d. Akbar

Answer. d

2. The jallianwala Bagh Massacre took place at Amritsar in which year?

a. 1919
b. 1920
c. 1921
d. 1930

Answer. a

3. Which of the following Indian state is not situated on the border of Bhutan?

a. Sikkim
b. Assam
c. West Bengal
d. Tripura

Answer. d

4. Highest lake of the world is

a. Caspian
b. Baikal
c. Titicaca
d. Superior

Answer. ¢

5. Which among the following is not a Himalayan river?

a. Indus

b. Ganga

c. Brahmaputra



d. Mahanadi

Answer. d

6. Which gas is responsible for green house effect?

a. Hydrogen

b. Carbon dioxide
¢. Neon

d. Sulphur dioxide

Answer. b

7. Who has the final authority to decide whether a bill is money bill or not?

a. Prime Minister

b. President

c. Finance Minister

d. Speaker of Lok Sabha

Answer. d

8. What is the name of National calendar of India?

a. Vikrama Calendar
b. Hizri Calendar

c. Saka Calendar

d. None of these

Answer. ¢

9. The first spacecraft to reach on Mars is

a. Columbia

b. Voyager

c. New Horizons
d. Viking-I

Answer. d

10. What is the equivalent rank of Lt.Colonel ( Army ) in Indian Air Force

a. Group Captain

b. Wing Commander
c. Air Commodore
d. Squadron Leader

Answer. p



11. Bharat Ratna Award was first awarded in

a. 1920
b. 1940
c. 1950
d. 1954

Answer. d

12. Who administered the oath to the Governer?

a. Chief Justice of the High Court of the concerned state
b. Chief minister

¢. Prime minister

d. President

Answer. a

13. How many rings Olympic logo has ?

d. 4

Answer. a

14. Which country won FIFA-2018 ?

a. France
b. Russia
c. Portugal
d. Spain

Answer. a

15. In which state is the Indian Naval Academy located ?

a. Kerala

b. Karnataka
c. West Bengal
d. Maharastra

Answer. a

16. The bending of the ray of light passing from one medium to other medium is called.

a. Refrection

b. Reflection



c. Scattering
d. None of these

Answer. a

17. At critical condition the angle of reflection is

a. 45°
b. 30°
c. 60°
d. 90°

Answer. d

18. Name the physical quantity whose unit is J/C.

a. Electric potential
b. Current

c. Voltage

d. Resistance

Answer. a

19. Which of the following substances will have strongest intermolecular forces?

a. Water

b. Paper

c. Mercury metal
d. Air

Answer. 5

20. Compound formed by the rusting of iron is

a. Hydrated iron oxide
b. Iron sulphide

c. Hydrated iron sulphate
d. None of these

Answer. a

21. pH value of milk of magnesia is

a. 10.5
b.9.5
c. 8.4
d. 10.9

Answer. a



22. Which of the following greenhouse gas is released in paddy field?

a. CFCs

b. CH4

c. SO2

d. All of these

Answer. b

23. The first antibiotic discovered by Alexender Fleming was

a. Streptomycin
b. Ampicillin

c. Penicillin

d. Terramycin

Answer. ¢

24. BCG vaccine is used against

a.TB

b. Leprosy

c. Food poisoning
d. None of these

Answer. a

25. At what tempreature volume of gases becomes negligible?

a. 0°C

b. 0°K

c. 100°C

d. None of these

Answer. b

26. What will be the number of pairs of salivary glands?

a.2
b.3
c.4
d. 1

Answer. b

27. Leaves are green due to presence of............ in plants.

a. Chlorophyll

b. Water



¢. Xylem
d. Light

Answer. a

28. Electric current is measured by:

a. Voltmeter

b. Ammeter

c. Anemometer
d. None of these

Answer. b

29. What was the first Indian Geostationary satellite?

a. APPLE
b. PSLV
c. INSAT
d. IRS

Answer. a

30. The reptile which reproduces male progeny at high incubation tempreatures is a..............

a. Lizard
b. Turtle
c. Snake
d. Crocodile

Answer.

31. Find the value of (¥324-V441)2

c.-9
d.9

Answer. d

32. Find the largest number which divides 62, 132 and 237 to leave the same remainder in each case.

a.21

c. 35

d. 40

Answer. ¢



33. A student gets 25% marks and failed by 50 marks. Another student gets 42% marks and his marks are 52 more than pass marks. Find the maximum
number of marks.

a. 600
b. 400
c. 500
d. 800
Answer. a

34. Ajay bought 15kg of dal at the rate of RS-14.50 per kg and 10kg at the rate of Rs-13 per kg. He mixed the both and sold the mixture at the rate of Rs-
15 per kg. What was his total gain in this transaction?

a. Rs-1.10
b. Rs-11

c. Rs-16.5
d. Rs-27.50

Answer. d

35. A certain sum of the money at simple interest amount to Rs-4320 in 2.5yr and to Rs-4752 in 4yr. The rate of interest per annum is

a. 8%

b. 8.50%
c. 7.50%
d. 9%
Answer. a

36. Ratio between the monthly incomes of A and B is 9:8 and the ratio between their expenditures is 8:7. If they save Rs-500 each, then A's monthly
income is

a. 3500
b. 4000
c. 4500
d. 5000
Answer. ¢

37. A and B started a business by investing Rs-50000 and Rs-60000 in partnership.A is a active partner in business, for it to give each month Rs-1000 extra
A's. If total profit in the end of year was Rs-34000, then share of B in profit was

a. 22000
b. 12000
c. 18000
d. 10000

Answer. b

38. 20 men can build a 56m long wall in 6 days. What length of similar wall can be built by 35 men in 3 days?



a.45m
b. 46m
c. 48m
d. 49m

Answer. d

39. A 150m long train crosses a telegraph pole in 12 seconds. What is the speed of the train?

a. 50km/h
b. 12.5km/h
c. 25km/h
d. 45km/h

Answer. d

40. The ratio of radius and slant height of a cone is 4:7 If it's curved surface area is 3168 cm2, then it's radius is equal to:

a. 24cm
b.21cm
c. 32cm
d. 28cm

Answer. a

41. The Median of data 50, 48 ,47, 48.5, 50.5, 52, 48.8, 46 is-

a.48

b. 50
c.48.5
d. 48.65

Answer. d

42. If cosd + sind = V2 cos0 , then find the value of cos6-sind?

a. V2 sind
b. sin20
¢.\2 cosd
d. 1

Answer. a

43. What is the angle between two adjacent sides of a regular polygon having 8 sides?

a. 130°
b. 135°
c. 140°

d. None of these



Answer. b

44. The prime factor of 15015 are :

a.3,5,7,13,37
b.3,5,7,11, 13
¢.3,57,11,37
d.3,5,11,13,37

Answer. b

45. The age of Pooja's father is four times that of Pooja. 5 years ago her father's age was 9 times of her age. Find the present age of both:

a. Father's age 32 years and Pooja age 8 years

b. Father's age 32 years and Pooja age 12 years
c. Father's age 30 years and Pooja age 10 years
d. Father's age 34 years and Pooja age 14 years

Answer. a

46. Complete the following series- KMS5, IP8, GS11, EV14 ............

a.CY17
b. BY17
c. BX17
d.DY17
Answer. a

47. Pointing to a photograph, Bajpai said, "He is the son of the only daughter of the father of my brother". How is bajpai related to the man in the
photograph?

a. Maternal uncle
b. Brother

c. Uncle

d. None of these

Answer. a

48. If AEC =9 then, KLP="?

a. 30

c. 20
d. 9

Answer. b

49, If A=26, SUN = 27, then CAT is equal to



a. 44
b. 54
c. 64
d. 72
Answer. Bonus is awarded for this question to all the candidates

50. A house faces North. A man coming out of his house walked straight for 10 m, turned left and walked 25 m. He then turned right and walked 5 m and
again turned right and walked 25 m. How far is he from his house ?

a. 15m
b. 55m
c. 60m
d. 65m

Answer. a
Test Question Language:- HINDI

1. BRR Ficptet Roer FHioft FHeR?

a, dsR

b. ggA
c. SiBHR
d. [hR

Answer. d

2. AR Y FIREATAr I gAThis Hvran it gsa?

a. 1919
b. 1920
c. 1921
d. 1930

Answer. a

3. TIEde! U YR ST AR SHR aeed ATel?

a. Rgom
b. 3™
c. 9t Sa

d. g

Answer. d

4. ST Fafd 39 WR 3R

a. HRygT
b. SFHA



c. fefewmam
d. guifer

Answer. ¢

5. Treierds! Bior Tt A= T8 A

a. 389
b. T
C. SR
d. Fgret

Answer. d

6. 919 BT Shaeadt HIUM a7 JEEER Q7

a. TG

b. FTEA M SffTaEs
c. s

d. TR S1 Sfferds

Answer. b

7.5 it fow oM @t et ¥ oravamn Sifqy iR wiumer eme?

a. gayer

b. Jgucht

c. 3t

d. dHaNT e

Answer. d

8. WRare AP feeRieT Ta P eme?

a. i FIR
b. feort baieR
C. TP Faex
d. a1t S e

Answer. ¢

9. @R U Ufed SiRIaH 31T

a. Siafern

b. ETSR

c. 3 BRIEF
d. IrfbTI-1

Answer. d



10. 4RAT aREAE Avee Bd (M) ot gHbe I fbdl 3R

a. 9 Hpd

b. fd HafeR
¢. T3R FHER
d. WreT e

Answer. p

11, YRR TRER TUH HT S0 3Tl

a. 1920
b. 1940
c. 1950
d. 1954

Answer. d

12, ITUIEHT ]9y ST AT ?

a. T I I AR = A1
b. gt
c. dauy™

d. Tyudt

Answer. a

13. 3ol oiien fpcht R emga?

a5
b. 7
c.3
d. 4

Answer. a

14. FIFA-2018 ran 3 fofpa?

a. hr

b. IR

c.@l?leﬁ
d. ¥4

Answer. a

15. e Agd SfBIEH HIUT I 3Hg?

a. BT
b. FicHd



c. UfgH SE
d. 7ERTY

Answer. a

16. THT HITHIGT go1 HIGHIDS S0l UHTRITBRUTET ATHUATal RUIdId.

a. TR
b. wfdfds
c. g
d. T P A

Answer. a

17. 1R AT Wiadd s 3R

a. 45°
b. 30°
c. 60°
d. 90°

Answer. d

18. Yfde THIUR A9 W WE Tee J/C IR,

a. faqga &
b. =1

c. faqgaar
d. ufieR

Answer. a

19. Wctate! SO Germd Fafd Ao aRsfas aa srwdia?

a. groft
b. &1Tq
. JY
d. gar

Answer. 3

20. TRISTT T0AMS TR BUR IGT 37

a. FUSCS WE SIS
b. e AHES

c. GAgSS dlg Febe
d. TP PTG A1

Answer. a



21. TR guR pH ged 38

a. 10.5
b. 9.5
c. 8.4
d.10.9

Answer. a

22, IAAUD! HIOT FRA[E Ay, HaRcid Frsal Sir?

a. CFCs
b. CH4
c. SO2
d. a1 ¥

Answer. b

23. JFie WA TS URRd ulosiae gid

a. COHERA
b. SfARIRE
c. Ui

d. RERA

Answer. ¢
24, SKfiSt @9 favs aoRe Sd
a. d&t

b. TERIT
c. 37 fawarem

d. gt SRR T

Answer. a

25. ST ATIHFIG A THT0T 910 Blel?

a. 0°C

b. 0°K

¢. 100°C

d. T HTETE! ATt



Answer. b

26. T Tffen Searh Wen fFd sia?

a.2
b.3
c.4
d. 1

Answer. b

b. Troft

C. SIgaH
d. UpI=1

Answer. a

28. faggd varg Hieel Sl
a. TeeHeR
b. Ammeter

c. 3ffAHeR
d. aet R T

Answer. b

29, TfRE YR YRR IUUE HIVTAT g2

a. APPLE

b. PSLV

c. INSAT

d. IRS

Answer. a

30. 3= ST AUHAG R Hddd TI@EGT HRURT WRUCURT Ul O ..............

a. sl
b. ®d

c. g9



d. R

Answer. p

31. (V3244412 3 @ en

a. 10
b. -3
c.-9
d.9

Answer. d

32. gafa Hidt T wer st 62, 132 3afor 237 @1 Ui 3nfr ude Sedld SHF Sdikd s,

a. 21
b. 30
c. 35
d. 40
Answer. ¢

ﬁ.mmzs%wmmsommm.wmm%wmmﬁamaﬁwa—vﬁdwﬁ&nszw&n@amww
o

a. 600
b. 400
¢. 500
d. 800

Answer. a

34. oA 15 fpal 81 14.50 0 ufd fhal @@ oo 10 fbel 13 398 ufd fba a1 @M @R Saft. @il Il e e d o 15 308 fFal @A .
Y] HAERId Al UHUl Brael B eidl?

a.%-1.10
b. 3-11
c.%-16.5
d. %-27.50

Answer. d

35. redT SOOI YHHT BIE IGBH 2.5 T $-4320 3 4 aufd $-4752 ZAB! SR, AMMS Ao 3R

a. 8%
b. 8.50%
c. 7.50%
d. 9%

Answer. a



36. A 30T B =7 T IOEdE IR 9:8 38 MM e wafnde uitR 8:7 o8, SR i U@ 500 IUT IEad, R A Y ARG ST MR

a. 3500
b. 4000
c. 4500
d. 5000
Answer. ¢

37. A 3T B yifierid $-50000 31 $-60000 F Tdau[es Fed IGqU I Hal A IEEE Ifhd UrfieR o, Irdl Ude Afg=arar $-1000 sifafad A @t
0. SR guieA AGEl THU TB1-34000 3T, TR ARG B 91 @l g

a. 22000
b. 12000
c. 18000
d. 10000

Answer. b

38.20 O3V 6 fegwid 56 diex a@ig i die raward. 35 gey 3 figuma fedt atdlt aum fid diy rbdra?

a. 454t
b. 46 Tt
c. 48 T
d. 49+

Answer. d

39. 150 Hiex @ig ¢ 12 Yabard TIHR® Uid Siidisd. ¢an o ot ame?

a. 50 fee/ar
b. 12.5 fah/ar
c. 25 fdi/ar
d. 45 foii/ar

Answer. d

40. p=ar Bear onfdr foRan I UIRR 4.7 3% SR AR 9% YRR 8a%a 3168 Ut 2 offd, &R fo<t = one:

a. 24 9
b. 21 I+t
c. 32 9ft
d. 28 3

Answer. a

41. 3T BEF 50, 48,47, 48.5, 50.5, 52, 48.8, 46 3MTe-

a. 48



b. 50
c. 48.5
d. 48.65

Answer. d

42. %R cosd + sinf = V2 cos, TR cosO-sind T Ted L2

a. V2 sind
b. sin20
¢.\2 cosd
d.1

Answer. a

43. 8 919 rTdedT afid SgyeTen & e a@Edd S R emg?

a. 130°
b. 135°
c. 140°
d. Tt SRR e

Answer. b

44. 15015 3 =T °geh 3R

a.3,5,7,13,37
b.3,5,7, 11, 13
¢.3,5,7,11,37
d.3,5,11,13,37

Answer. b

45, qoTeT afge™ a9 geredl 9ue 1R, 5 aviydl faen afea™ ag fo=n qarnr 9 ue . Su ger 99 e

a. af3ard g 32 a¥ onftr yo 99 § o
b. afgad a7 32 9§ onfdr gom g 12 9§
c. gfgar 77 30 9§ onftr go 9 10 a¥
d. 3fea 99 34 9§ onftr o 9T 14 a¥

Answer. a

46. @rcia wiferst gof &1- KMS, IPS, GS11, EVI14 ............

a.CY17
b.BY17
c. BX17
d. DY17

Answer. a



47. T SAIEGS dic graad SIoudl TgUNd, "dl AredT WGl aidare Ugadl U gotd ga omg". sreidier wieiqeda ARl s ey 3me?

a. "
b. I
¢. DIDpT

d. gt SRR T

Answer. a

48. AEC =9 3qeurd, KLP = ?

a. 30
b. 39
c. 20
d.9

Answer. b

49.5R A =26, SUN =27, W CAT sRIsR 3MTg

Answer. Bonus is awarded for this question to all the candidates

50. R IR AT 3. AT WG R USUIRT AV 10 Hex W a1aell, Sdiws gosal i 25 Hiex Iraar. AR o Sudibs desam Sy 5 Mex arerar
ST g1 Iodidhs g3 25 Wex araar. df el WRIURE fbdt dfd 3mg?

a. 15+t

b. 55 &t

c. 60 7

d. 65 7

Answer. a

Test Answer

1. (d) 2. (a) 3.(d) 4. (c) 5.(d) 6. (b) 7. (d) 8. (c) 9. (d) 10. )
11. (d) 12. (a) 13. (a) 14. (a) 15. (a) 16. (a) 17. (d) 18. (a) 19. (a) 20. (2)
21. (a) 22. (b) 23.(c) 24. (a) 25. (b) 26. (b) 27. (a) 28. (b) 29, (a) 30. ()
31. (d) 32.(c) 33.(a) 34. (d) 35. (a) 36. (c) 37.(b) 38. (d) 39. (d) 40. (a)

41. (d) 42. (a) 43.(b) 44. (b) 45. (a) 46. (a) 47. (a) 48. (b) 49. gonus) 0. (a)





